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Section A {20 marks)

" Questions 1 to 19 carry 1 mark each, Questions 11 to 15 carry 2 marks each.
For each Question, 4

Make your choice (1,2
sheet,

1.

3.

Find the vajye of 12 + 30 + 3x2.

(1) 7
(2) 28
(3) 32
(4) 44

Express 5 kg 3 gin
(1)5.3kg
(2) 5.03 kg

(3)5.003kg
(4) 5.0003 kg

Which one of the fol
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lowing fractions is arranged in ascending order?

Simplify 6m + 17 — 2m 30.

(1) 8m + 47
(2) 6m + 47 — 2m
(3)Y4m + 13




5. Look at the number line below.

[ T 71 ]
45 4.6 4.7 T 4.8
A

What is the value of "A” in the number line?

(1) 4.025
(2) 4.725
(3) 4.75
(4) 0.775

6. A printer“cé.'; pﬁnt 15 pages a minute. How many pages can it print in 3 hours?
(1)45
(2) 180

(3)2 700
(4) 3 000

7. The figure shows a square and a straight line OA. Find Za.

A

65/ .

o

(1) 25°
(2) 45°
(3)115°
(4) 135°




Fivge girls have an average mass of 32 kg. When a naw gif joins the group,
their average mass increases to 35 kg. What is the rnass of the new girl?

(1)38% kg

(2) 18 kg
(3) 50 kg
(4) 53 kg .

- Which of the followi g has only 4 lines of symmetry?

A) B)

C) D) AN

(1) A only
(2Z)Aand B
(3)A,Band D
{4) Al of the above

Mrs. Tan bought a handbag at a discount of 15%. She paid $153 forit.
What was the original price of the handbag?

(1) $160
(2) $180
(3) $1020
(4) $1100

-

s



11.  Which of the follow

12.

13.

14.

ing is not a NET of a cube?

A) — 8) E‘“—-
LI { 1]
T ]
C) E;_I_* D)
] L
(1) B only
{2) C only

(3)Band C only
(4) A and B only

What is the maximu
rectangle 21 cm by 1

(1) 6
(2} 7
{3) 15
(4) 35

m number of circles of radius 3 cm that can be cut out from a
o cm?

Between the numbers 10 and "‘1 00, how many times will the digit *6° appea"r?

(1) 10
(2) 19
(3) 20
(4) 21

Express 35 g as a percentage of 4 kg.

(1)875%
(2) 8.75 %
(3)0.875 %
(4) 0.0875 %

;b




15. Mr. Tan drove #br 2h

average speed by 15 km/h ang

Speed for the

2

(1 765— kmth™ .

) 77% kr/h

(3) 79 km/h
(4) 158 km/

ole journey?

ours at an average speed of 85 k
.Covered another 175 k

m/h. Then he reduced his
m. What is his average

o
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Questions 16 to 25 carry|1 mark each. Write your answers in the spaces

provided. For questions which require units, give your answers in the units

stated. {10 marks)

/80

16. Round off 18.067 to the nearest hundredih.

17.

What is the missing number in the box?

18. If a =8, find the value

24x§—=14x—+‘
9

wi
+

o],
+

of 3a* ~ 4a ~ 29.

W]

Answer :

Answer ;

Answer :

4



The shaded area

20. 15 copies of Teena

21. Mrs. Tan made some

Curry puffs in each b
What fraction of the

22. The soligis made up

-

ox. Altogether she
total number of pu

pC
2 ABCB, E & F gre mid-points of AC & Bp

9€ magazine cost $60. How much will 2 dozen copies cost?

Answer:§

sardine and curry puffs. She packed 3 sardine puffs and 5
had 20 boxes.

ifs was the curry puffs?

Answer :
—_—

of 2-cm cubes, What is its volume?

Answer: cm?®




23. Equal amount of water is pouregd into 2 empty tanks A & B as shown below. If
Tank Ais half-filled, what is the height of the water level in Tank B?

y |

16 cm 12 cm
Al B
Scm
. 10 cm
24 cm 16 cm
Answer: cm

24. The table below shows the time the bus leaves the interchange for the airport.

—
Leaves Bus interchange Arrives at Airpart
08 30 09 15
08 45 08 30
~ 08 20 1005
08 45 10 30
P 1030 - 1115 .

Sandy needs to arive at the airport before 10 15. What is the latest time that she
must board the bus|so that she will be punctual?

Answer ;

25. Mrs. Tan can sew a dress in 3 days. Mrs. Leong can sew a similar dress in 4 days.
How many days will they take to sew a dress if they sew the dress together?

Answer : days




Questions 26 to 3L5 carry 2 marks each. Show your working clearly in the space
below each question and write Your answers in the spages provided. For
questions which tequire units, give your answers in the units stated.

{20 marks)

26. The sum of three Numbers is 766. The first number is twice the second number.,
The thirg number is 54 more than the second number. Find the second number.

Answer -

—

27. A wheel of diameter 70 om is rolled from wall Atowali B. if the wheel takes 5
revolutions to reach wall B, what js the distance between wall A & wali B?

(Take n = —)

Answer - m




28. Simon and Tamm

y had a cycling race. Simon cycled at an average speed of
15 kmvh and Tamn i

20 minutes earlier

Y cycled at an average speed of 18
than Tammy, how long would she ta

Answer : h

29. A square has an aréa of 36y2 cm?,

(a) Find the length of
(b} Find the perimete

the square.
r of the square.

Answer : (a) cm

(b) cm

10



31.

30. K Adam gives

Bobby. If Bopp
that of Adam’s.

The rectangie is dj
andDis12:5:2;

vided into 4 smaller re
espectively. The area

N
A B
LD;CA

Answer :

ctangles. The ratio of their areas of A B
of Bis 12 cm?, What is the area of C?

Answer ;




33. How many 3-cm cy

Answer : °

bes can be cut from a block of wood measuring 27cm by 35¢cm
by 51em? .

12

Answer :

P



34. The pie chart shows the amount of money donated by each family. If the amount
of money daonated b t

y the Yeo family is $620, what is the amount donated by the
Lim family?
Lim .
Lee
10%
Tan Yeo
Answer :

35. There are 40 workers in Bata factory and 35 workers in Reebok far:'tory.
30% of the workers|in Bata factory are male while 60% of the workers in Reebok
factory are male. The two factories closed down and all the workers went

to work in Nike factory. How many percent of the workers are male in Nike
factory if there are no workers working in there before that?

Answer : %

s 4




Section C

For questions 36 tg 48, show your working cl

question and write

(50 marks)

early in the space provided for each

your answers in the Spaces provided.
The number of marks available is sho

question or part-question,

W in brackets [ ] at the end of each

36. The diagrams below show two different orientations of th

on the faces of th

H |4

|

& same cube. The letters
ecubsareH, A, B, ET S '

(a) Which face ig opposite fo that marked S7
{(b) Which face is opposite to that marked H?
(c) Which face is opposite to that marked B?

37. . Rectangle ABCD
the perimeter of re

Answer : (a) [1]
(b) [}
(c) {1}

s divided into 9 identical smal rectangles as shown. Given that
ctangle ABCD is 90 cm, find jts area.

Art—rpt—rrd—0i o . p
h

Answer * [3]




38. Tessellate the d

38.  School P has 180

from Schoot Q to Schoof P

School Q. How ma

15

hape on the grid provided. Draw another. 7 of the inen shape.

Answer ;

[3]




- 40, The ratio of ban

41.

banana trees w,

trees. How many

{a) «x
(b) 2y

The figure shows =

ana Irees to papaya trees in an orchard is 4 : 1. When 50% of the-
re cut down, there were 420 more banana trees than papaya
/ trees were there gt first?

Answer :_ _[3]

trapezium and 3 triangle. Find,

b

48°

Answer : /x = (1]

Ly= . [2]

16 S -710




42. The sequence

of patterns is foimed with Squares. The first four patterns are
shown below. . ' ;
-
[] 17 - ] 7]
Pattern 1 Pattern 2 Pattern 3 Pattern 4

(a) How Many squares are needed for Pattern 772

(b) There are 100 Squares and some of them are used to form Pattern 50,
How many squares are left unused?

(¢} Find the pattern that has a total of 205 squares.

Answer : (a) _ [1]

(b)_ [1]
() [2]

43. Mrs. Chan travelied at 60 km/h from her home to the office. On the v‘iéy home, she
increased her speed by 30 knvh and took 5 minutes less.
What was the distance between her horme and the office?

Answer ;- f4]




files that he ¢d

3 files weighed 10.2 kg. Later Peter added 2 more files and 3
nd ‘

, the mass of the box with its contents became 19 kg.
If the mass of one file was four times the mass of the book, \

of the box, {Express your answer as a decimal).
(b) Peter could only it a maximum mass of 13

kg. What was the least number of

ould remove from the box so that he was able {o |jft the box?

i8

" Answer: (a) , _ [2]

(b) (2]




45, Inthe figure belg
14 ¢m. Quadrant
Find the area of

(Take = —273)

W, O is the centre

of the circle. ABC
OAC is equal to Quadrant BAC.

he shaded parts.
>
N AN
N ﬂ\j
N \
0 A
C B
Answef;:
19

O is'a square and OD is

(5]

/A



46. Eight identical

m cubes
cm and width 4i|) em. The ta
rate of 9 litres pbr minute. It ta

(a) How much nore water
(Express your answer in litres)

(b} Find the height of the tank.

LR ENDCY ¥

is nee

nk is then filled with

20

are placed in an empty rectangular tank of !ength 75
water running from a tap at the

kes 11 min to fil up g of the tank.

ded to fill up the tank toits brim?

Answer : (a) 3]

(b) (2]




47,

At ﬁfst, Jonat_har

another 8 stamps

as Kevan,
Find the number

of stamps Jonathan had at first.

21

had —:— as many’sta’mpé as Kevan, After Jonathan'bought

Answer

[S]

V3

s and Kevan lost 5 stamps, Jonathan now has -g— as many sfarhps



to the number f boysis 2 : 3. Schy

(a) Find the raﬁtL of the number of girls in school X to the number of boys in
school Y. | '

Answer : (a) (2]

(b) [31

~~ the end ~—
22




Nan Hua Primary School

Primi Iy 6 Maths Preliminary Exams (2006)

Answer Sheets |
F Q1 Q2 Q3 Q4 Q5
3 3 2 4 2
Q6 Q7 Q8 Q9 Q10
3 1 3 1 2
Q11 Q12 Q13 Q14 Qi5
1 1 2 3 1
5
16. 18.07 21 3
17. § 22, 128cm?
18. 131 23. 6em
19. ABFE 24 0920
12 4
20. $96.00 25. 7 days
[26. [ 178 27. (220 x 5 + 70 = 1170cm
= 11.7m
! 15=5%
28. (7 Xb= 29a. | 6yem
5
3 = 17 hours 29b. | 27yem
30. |3u =60 31. | Sem?
4u = 80
80— 20 = 60
32. |28 33. | 1683
Page 1 0f4



—
34. | 25% = 620 35 | Too x 40 = 12 (Bata’ workers)
5% =124 40 = 12 = 28
0% = 992
60
100 x 35 = 21 (Reebok’s workers)
The amount donated by the Lim’s family 35-21=14
is $992.00 (Ans)
12 + 21 = 33
40 + 35 = 75
=3 x 180 = 44%
_ 75
44% are male in Nike factory (Ans)
37. 1
36. | A - opposite S B = Ehr
I - opposite B 90 =30 +30 + 15 + 15
T - opposite H = 30 x 15 = 450
a. Itis face A It is area if 450cm? (Ans)
b. Itis face T
c. Itis face X
38. = 39. [3u =180 + 60 + 60
) = 300
iu = 100
4u = 400
= 400 - 60
= 340 pupils.
There are 340 pupuis {Ans)
! 4 =2
40, |5 ¥4 41. | X = 48 (Z)
2u — lu=1 = 180° - 98
Iu = 420 = 82°
S5u = 2100
a. Lx = 48°
There are 2100 trees at first. (Ans) b. Ly = 82°

Page 2 of 4



’72&1.

Pattern = (nx2)-1

60 + 30

=(7x2)-1 =13
1
13 squares are needed. 12 X 60 =5
-ihr = lhr
30 6
1
42b. [ (nx2)-1 g T x 90 =15
(50x2)-1 =99
1 square is left unused It was 15km. (Ans)
42¢. |(n +1) + 2
(205+1)+2 = 103
It is pattern 103. (Ans)
3 22
“4. (x4 +3=1 45. | g ¥ - x1dx14 =231
1
19 - 10.2 = 8.8 5 X 14 x 14 =98
1 22
11 books = 8.8 g ¥ 7 xlxl4=77
1book = 0.8 98 — 77 =21
4 books (1 file) = 3.2 98 — 21 - 21 = 56
3 files = 9.6 = 56 + 231
=102 - 9.6 = 0.6 = 287
a. It is 0.6kg
The area is 287cm? (Ans)
b. Remove 1 file = 19 — 32 = 15.8
Remove 2 files = 19 ~32x2) =126
He could remove 2 files. (Ans)
46. [5x5x5 =125 47, J : K
125x 8 = 1000 2 :3
9000 x 11 = 99000 0:90
99000 + 1000 = 100000 60 + 8 = 68
S = 100000 N-5=8
| 68 4
— = 50000 (50 — = —
3 0000 (500 85 5
a. S0t is needed. J : K
60 : 90
b. 150000 +~75 + 40 = 50 Jonathan had 60 stamps at first. (Ans)
Itis S0cm  (Ans)

Page 3 of 4




48.

NHwIN
N O

W&Q
S o s

e O
o e
N

The ratiois 8 : 3 (Ans)

o &

T
w i

W 5 [

Uy -

After

G: B

5: 8
10 : 16
16 - 15 =1
1u = 40
16u = 640

b.

There are 640 boys. (Ans)
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